

# Note on Taylor's Formula and Some Applications

J. E. PEČARIĆ

*Faculty of Civil Engineering, University of Belgrade, 11001 Belgrade, Yugoslavia*

GH. TUDOR AND B. CRSTICI

*Inst. Polit. "Traian Vuia," Timișoara, Romania*

AND

B. SAVIĆ

*Pariske komune 9, Belgrade, Yugoslavia*

*Communicated by Oved Shisha*

Received February 20, 1985; revised August 24, 1986

In this paper we make some remarks on the generalization of Taylor's formula from S. J. Karlin and W. J. Studden ("Tchebycheff Systems: With Applications in Analysis and Statistics," Interscience, New York, 1966). We also give some applications. © 1987 Academic Press, Inc.

## 1

Let  $w_i$  ( $i=0, 1, \dots, n$ ) be functions of class  $C^{n-i}[a, b]$ , either positive or negative on  $[a, b]$ , and let  $D_j$ ,  $j=0, 1, \dots, n$ , denote the first-order differential operator (see [1])

$$(D_j f)(t) = \frac{d}{dt} \left( \frac{f(t)}{w_j(t)} \right).$$

The following is a generalization of the well-known Taylor's formula:

**THEOREM 1.** *Let  $f: [a, b] \rightarrow R$  be a real function such that  $D^n f(x) = (D_n D_{n-1} \cdots D_0 f)(x)$  is continuous on  $[a, b]$ . Then*

$$f(t) = \sum_{i=0}^n a_i W_i(t; c) + R_n(t) \quad (\forall t \in [a, b]) \quad (1)$$

where  $c \in [a, b]$ ,

$$a_i = D^{i-1}f(c)/w_i(c) \quad (i = 0, 1, \dots, n; D^{-1}f \equiv f), \quad (2)$$

$$W_k(t; x) = w_0(t) \int_x^t w_1(s_1) \int_x^{s_1} w_2(s_2) \cdots \int_x^{s_{k-1}} w_k(s_k) ds_k \cdots ds_1 \quad (3)$$

for  $k = 1, \dots, n$  and  $W_0(t; x) = w_0(t)$ ; and

$$R_n = \int_c^t W_n(t; x) D^n f(x) dx = D^n f(u) \int_c^t W_n(t; x) dx, \quad (4)$$

where  $u \in [\min(c, t), \max(c, t)]$ .

We also have

$$a_i = \lim_{x \rightarrow c} \frac{R_{i-1}}{W_i(x; c)},$$

$$a_i = \lim_{x \rightarrow c} \frac{D^{k-1}R_{i-1}(x)}{w_k(x) \int_c^x w_{k+1}(s_{k+1}) \cdots \int_c^{s_{i-1}} w_i(s_i) ds_i \cdots ds_{k+1}}; \quad (6)$$

(for  $k = 0, 1, \dots, i$  (for  $k = i$  we get (2), and for  $k = 0$ , (5))); and

$$a_i = \frac{1}{w_i(c)} \lim_{y \rightarrow c} \frac{R_{i-1}(y)}{\int_c^y W_{i-1}(y; s) ds}; \quad (7)$$

$$a_i = \frac{1}{w_i(c)} \lim_{y \rightarrow c} \frac{D^{k-1}R_{i-1}(y)}{\int_c^y w_k(y) \int_c^y w_{k+1}(s_{k+1}) \cdots \int_c^{s_{i-2}} w_{i-1}(s_{i-1}) ds_{i-1} \cdots ds_{k+1} ds}; \quad (8)$$

( $k = 0, 1, \dots, i-1$ ).

*Proof.* Applying integration by parts to

$$R_n = \int_c^t W_n(t; x) D^n f(x) dx = \int_c^t W_n(t; x) \frac{d}{dx} \left( \frac{D^{n-1}f(x)}{w_n(x)} \right) dx,$$

we obtain

$$\begin{aligned} R_n &= -W_n(t; c) \frac{D^{n-1}f(c)}{w_n(c)} - \int_c^t \frac{D^{n-1}f(x)}{w_n(x)} \left( \frac{dW_n(t; x)}{dx} \right) dx \\ &= -W_n(t; c) \frac{D^{n-1}f(c)}{w_n(c)} + \int_c^t W_{n-1}(t; x) D^{n-1}f(x) dx, \end{aligned}$$

since

$$\frac{1}{w_n(x)} \frac{dW_n(t; x)}{dx} = -W_{n-1}(t; x).$$

Continuing this process we will finally obtain (1) with coefficients  $a_i$  given by (2).

On the other hand, (5) could be written in the form

$$a_i = \lim_{x \rightarrow c} \frac{R_{i-1}(x)/w_0(x)}{\int_c^x w_1(s_1) \cdots \int_c^{s_{i-1}} w_i(s_i) ds_i \cdots ds_1};$$

then, using L'Hospital's rule, we get

$$a_i = \lim_{x \rightarrow c} \frac{D_0 R_{i-1}(x)}{w_1(x) \int_c^x w_2(s_2) \cdots \int_c^{s_{i-1}} w_i(s_i) ds_i \cdots ds_2}.$$

Continuing this process we obtain (6) and, finally,

$$a_i = \lim_{x \rightarrow c} D^{i-1} R_{i-1}(x)/w_i(x) = D^{i-1} f(c)/w_i(c).$$

Note, also, that (7) could be written in the form

$$a_i = \frac{1}{w_i(c)} \lim_{y \rightarrow c} \frac{R_{i-1}(y)/w_0(y)}{\int_c^y (\int_s^y w_1(s_1) \int_s^{s_1} w_2(s_2) \cdots \int_s^{s_{i-2}} w_{i-1}(s_{i-1}) ds_{i-1} \cdots ds_1 ds)};$$

then, using L'Hospital's rule, we get

$$a_i = \frac{1}{w_i(c)} \lim_{y \rightarrow c} \frac{D_0 R_{i-1}(y)}{\int_c^y w_1(y) \int_s^y w_2(s_2) \cdots \int_s^{s_{i-2}} w_{i-1}(s_{i-1}) ds_{i-1} \cdots ds_2 ds}$$

Continuing this process we obtain (6) and, finally, for  $k = i - 1$ ,

$$\begin{aligned} a_i &= \frac{1}{w_i(c)} \lim_{y \rightarrow c} \frac{D^{i-2} R_{i-1}(y)}{\int_c^y w_{i-1}(y) ds} = \frac{1}{w_i(c)} \lim_{y \rightarrow c} \frac{D^{i-2} R_{i-1}(y)/w_{i-1}(y)}{y-c} \\ &= D^{i-1} f(c)/w_i(c). \end{aligned}$$

*Remarks.* (1) For  $w_0(t) \equiv 1$  and  $w_k(t) = k$  ( $k = 1, \dots, n$ ) we obtain Taylor's formula (and result from [2]).

(2) Theorem 1 is a generalization of some results from [1, pp. 387-389, 454-456].

## 2

Let functions  $w_i$  ( $i=0, 1, \dots$ ) have all its derivatives on  $[a, \infty)$  and let there exist

$$W_i(t) = \lim_{c \rightarrow \infty} W_i(t; c),$$

where  $W_i(t; c)$  is defined by (3). Then we shall say that

$$f(t) = \sum_{i=0}^{\infty} a_i W_i(t) \quad (9)$$

is a generalized asymptotic series of function  $f$ , and the following relations are valid:

$$a_i = \lim_{x \rightarrow \infty} R_{i-1}(x)/w_i(x), \quad (10)$$

where

$$R_{i-1}(x) = f(x) - \sum_{k=0}^{i-1} a_k W_k(x)$$

and

$$a_i = \lim_{x \rightarrow \infty} \frac{D^{k-1} R_{i-1}(x)}{w_k(x) \int_x^{\infty} w_{k+1}(s_{k+1}) \cdots \int_x^{s_{i-1}} w_i(s_i) ds_i \cdots ds_{k+1}}, \quad (11)$$

i.e.,

$$a_i = \lim_{x \rightarrow \infty} D^{i-1} f(x)/w_i(x). \quad (12)$$

For  $w_0(x) \equiv 1$  and  $w_i(x) = -i/x^2$  ( $i=1, 2, \dots$ ), we obtain

$$f(x) = \sum_{k=0}^{\infty} \frac{a_k}{x^k}, \quad (13)$$

where

$$a_n = \lim_{x \rightarrow \infty} x^n \left( f(x) - \sum_{k=0}^{n-1} \frac{a_k}{x^k} \right) \quad (n=0, 1, \dots) \quad (14)$$

and

$$a_i = \frac{(i-k)!}{i!} (-1)^k \lim_{x \rightarrow \infty} x^{i-k+2} D^{(k-1)} R_{i-1}(x) \quad (k=1, \dots, i) \quad (15)$$

i.e., for  $k = i$ ,

$$a_i = \frac{(-1)^i}{i!} \lim_{x \rightarrow x_0} (x^2 D^{(i-1)} f(x)), \quad (16)$$

where differential operator  $D^{(k)}f$  is defined recursively by

$$D^{(0)}f(x) = f'(x), \quad D^{(k)}f(x) = \frac{d}{dx} (x^2 D^{(k-1)}f(x)).$$

### 3

Now, suppose that  $w_i$  ( $i=0, 1, \dots, n$ ) are positive functions of class  $C^{n-i}[a, b]$ . Then  $u_k(t) = W_k(t; a)$  ( $k=0, 1, \dots, n$ ) is an ETC-system (extended complete Tchebycheff system). A function  $f$  defined on  $(a, b)$  is said to be convex with respect to  $\{u_i\}_0^n$  if

$$\begin{vmatrix} u_0(t_0) & u_0(t_1) & \cdots & u_0(t_{n+1}) \\ \vdots & \vdots & & \vdots \\ u_n(t_0) & u_n(t_1) & \cdots & u_n(t_{n+1}) \\ f(t_0) & f(t_1) & \cdots & f(t_{n+1}) \end{vmatrix} \geq 0$$

for all choices of  $\{t_i\}_0^{n+1}$  satisfying  $a < t_0 < t_1 < \cdots < t_{n+1} < b$ . In symbols we write  $f \in C(u_0, u_1, \dots, u_n)$  (see [1]).

The following result is a simple consequence of Theorem 1.

**THEOREM 2.** *Let  $f \in C(u_0, u_1, \dots, u_n)$ . If  $D^n f(x)$  exists and it is an increasing function on  $(c, b)$  with*

$$D^{i-1}f(c) = 0 \quad (i=0, 1, \dots, n; n \geq 1; D^{-1}f \equiv f),$$

then

$$0 \leq f(t) \leq D^n f(t) \int_c^t W_n(t; x) dx \quad (\forall t \in (c, b)).$$

A simple consequence of Theorem 2 is

**THEOREM 3.** *Let  $f: [a, b] \rightarrow R$  be  $n$  times differentiable function on  $(a, b)$ . If  $f(c) = f'(c) = \cdots = f^{(n-1)}(c) = 0$ ,  $f^{(n)}(x)(x) > 0$  ( $\forall x \in (c, b)$ ,  $c > a$ ), and if  $f^{(n)}(x)$  is an increasing function on  $(c, b)$ , then*

$$0 < f(x) < f^{(n)}(x) \frac{(x-c)^n}{n!} \quad (\forall x \in (c, b)). \quad (18)$$

## 4

In this part of the paper we shall give two applications of Theorem 3. Note that the following inequalities were proved in [3]:

$$\int_0^x e^{t^2} dt > \frac{e^{x^2}}{2x} \quad (x > 1) \quad \text{and} \quad \int_0^x e^{t^2} dt < \frac{3e^{x^2} + x^2 - 3}{4x} \quad (x > 0).$$

Martić [4] proved the following improvements of these results:

$$\int_0^x e^{t^2} dt > \frac{1}{2x} \left( e^{x^2} + \sum_{k=2}^n \frac{x^{2k}}{k!(2k-1)} \right) \quad (x \geq 1, n = 2, 3, \dots)$$

and

$$\int_0^x e^{t^2} dt < \frac{1}{3x} (2e^{x^2} + x^2 - 2) \quad (x > 0).$$

Now, we shall prove

**THEOREM 4.** *The following inequalities are valid for every  $x > 0$  and  $n = 1, 2, \dots$ :*

$$0 < \int_0^x e^{t^2} dt - \frac{1}{2x} \left( e^{x^2} + \sum_{k=0}^n \frac{x^{2k}}{k!(2k-1)} \right) < \frac{x}{2} \left( e^{x^2} - \sum_{k=0}^n \frac{x^{2k}}{k!} \right), \quad (19)$$

and

$$0 < \frac{1}{3x} \left( 2e^{x^2} - \sum_{k=0}^n \frac{(k-2)x^{2k}}{k!(2k-1)} \right) - \int_0^x e^{t^2} dt < \frac{2x^5}{9} \left( e^{x^2} - \sum_{k=0}^n \frac{x^{2k}}{k!} \right). \quad (20)$$

*Proof.* Let

$$u(x) = 2x \int_0^x e^{t^2} dt - e^{x^2} - \sum_{k=0}^n \frac{x^{2k}}{k!(2k-1)}.$$

Then  $u'(0) = u(0) = 0$  and

$$u''(x) = 2 \left( e^{x^2} - \sum_{k=0}^n \frac{x^{2k}}{k!} \right)$$

is a positive increasing function for  $x > 0$ ; so from Theorem 3 in the case  $n = 2$  and  $c = 0$ , we obtain (19).

Now, let

$$v(x) = 2e^{x^2} - \sum_{k=0}^n \frac{(k-2)x^{2k}}{k!(2k-1)} - 3x \int_0^x e^{t^2} dt,$$

then  $v(0) = v'(0) = v''(0) = 0$  and

$$v'''(x) = 4x^3 \left( e^{x^2} - \sum_{k=0}^n \frac{x^{2k}}{k!} \right)$$

is a positive increasing function for  $x > 0$ , so, from Theorem 3 in the case  $n = 3$  and  $c = 0$ , we obtain (20).

In the special case we have

$$0 < \int_0^x e^{t^2} dt - \frac{1}{2x} (e^{x^2} - 1 + x^2) < \frac{x}{2} e^{x^2} \quad (x > 0),$$

and

$$0 < \frac{1}{3x} (2e^{x^2} + x^2 - 2) - \int_0^x e^{t^2} dt < \frac{2}{9} x^5 e^{x^2} \quad (x > 0).$$

#### REFERENCES

1. S. I. KARLIN AND W. J. STUDDEN, "Tchebycheff Systems: With Applications in Analysis and Statistics," Interscience, New York, 1966.
2. B. SAVIĆ, Jedan novi postupak određivanja koeficijenata Tajlorovog reda, *Mat. Vesnik* **1** (14) (29) (1977), 51–54.
3. B. CRSTICI AND GH. TUDOR, Compléments au traité de D. S. Mitrinović (VII). Sur une inégalité de D. S. Mitrinović, *Univ. Beograd. Publ. Electrotehn. Kak. Ser. Mat. Fiz.* **498**, No. 541 (1975), 153–154.
4. B. MARTIĆ, Note sur certaines inégalités d'intégrales. *ANU BIH, Radovi LXI, Odj. Pr. Mat. Nauka, Knj.* **17** (1978), 165–168.